EAAE AxEoAe] g A B

S|
ax

An analysis on the headway of urban rail transit
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ABSTRACT

A signal system is critical point of transport capacity and train operation in urban rail transit.

Today the moving block system by radio is taking place of the fixed block system by track circuit

for efficiency and short headway in underground railway and right rail transit.

In this study,

assuming specification of a train, track and control system, the minimum headway on the moving

block system and the fixed block system is researched for the maximum transport capacity.
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